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more circles will result in zero mark in that question.

NOTE:Four possible answers A, B, C and D to each question are given. The choice which you think Is
correct, fill that circle in front of that question with Marker or Pen ink. Cutting or filling two or
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Number of macronutrients are;

(A) 12 (B) 14 () 9
Cancer of blood is;
(C) Pneumonia

(A) Thalassaemia  (B) Leukacmia

Severe deficiency of water in plants is talltd as:

(A) Dessication (B) }{Lsplmtmn

Transplantation uf kldnqs s t;:lmplc" of' i

(A) Mcdmim: g (BY Murp]wlug (C) Physiology
Eﬁiﬂdrlﬁnl fissue is found in;
(C) Crow

(A) Pigeon (B) Sparrow

Meaning of aria is:
(A) Air

(B) Smoke (C) Odour

Kingdom of fern Is:
(A) Fungi

(B) Protista (C) Plantae

Elasticity of cell membrane is due to:
(A) Lipid (B) Water (C) Protein
Fluid mosaic model belongs to:

(A) Cell membrane (B) Cell wall (C) Dermis
Process of formation of new tumors is known as:

(A) Synapsis (B) Crossing over (C) Metastasis
Alcohol is prepared by:

(C) Onion

(A) Yeast (B) Algae

Dark reactions are part of:
(C) Metastasis

(A) Respiration  (B) Necrosis

(F) Trmplmﬂnns
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(D} Nutrition

(D) Surgery

(12) Onion

(D) Smell

(D) Animalia

(D) Vitamin

(D) Endodermis

(D) Regeneration

(D) Pepper

(D) Photosynthesis




